
FBIï FEB7019 -working withQUADIMATicFunctions:
THESAANDARDl

VERTEX ïFA_ CTOREDFORM _
so farWC workedw/the vertexform(mainly):fa-ax-herk

_

Vertex-tonusExample:fix) =3/4×-15+2 Vertex,sat (442)
=>iertex: (12)

STANDARDFORM: fix) =ax?text

Example t"wifefin above instandard form_

SolutionsY_ Expandthese(square ITS.roup terms
fli.i.3(X-ist2=3/2×-160-142

=3{ )YI+2 I-2x +2=K
in

uu
#_x<x+y)+2

= 3*_ bx+}oÄAt3 butÄ3



Practice: Find _The standard for offly)= KX-13)"-7

Ansfly)= 2(X43)2_ 7=2(X+3)(X+3)-7=
=

~~

-u
2( )-7*+ BX+ZX+ï =

. 21 )XZ+6x+9 -7 =

= 2\s2+ 12x + 18-7= \212+124_in>
a=SQQ12

cell



SolvingQuadraticEquations._

Examples of Quadratic Equations
4= 100-4
:QXYTTX+1 = - 8
ï 3(x.D'42= XTI

.

* standard Fomat -4.9
b=0
E

* SF at$2=3
C.

-

100-4=96

9
tom? Cannot say ringholeright away

3(x+1*2)= 0 =>1Factor FOM



Entreat solutionFOR QUDDRACTCElevationsin STANDARFORM
_

ax2tbxt9=0 Alwaystwo (2) solutions givenby formula
X=--bt_ r5-49c

QA
It Can bethat both solutionsare= !!
Example -y-2* +1=0

Ans
Solved:

1) Start by identifyingable
9=2 5=-2Ä1

2)} Substitutethebe Valves inquadraticformula

- "'Quadratic-torcula"

XE 2I~4-4

at 1

4.14 -
2.1

2INY
2

=
2oliot FH

= ythis?



GRAPHICAL INTERPRETATIONof THE

solutions of A OUADRATTCEducation_ -

_ I \

V^
U

0 o o

THE solutionS GiveUS FHE

x

y
X-interceptsoftheparabola_

_

.

/ï2 solutions
becauseof Intercepts

\ ,onlyinterceptpoint
=httenleboth solutions

coincide

What happens withgreen parabola?
NOTnterapt
Hence,n0 solution



Example: (X-7]
2

+2 t 0 Solvethis

XZ-2044+2=0
*-24 +6=0

/ \ = _QIT4-24
2

Ear-20
2
0

N
{favaned of EOAAVE# YI NO solution


